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Number series Questions for EPFO Asst. Pre, IBPS Clerk Pre, SBI 
Clerk Pre and IBPS RRB Asst. Pre Exams.   

Number series Quiz 55 

Directions  : What will come in place of question mark (?) in the following series? 

1.  320     160      240      600      2100     ? 

A. 8350  B. 8850  C. 9450  D. 9650  E. None of these 
 

2.   432     443      463      500      562     ? 

A. 659   B. 657   C. 653   D. 651   E. None of these 

 

3.  13     24      92      546      4360     ? 

A. 43600  B. 44100  C. 43580  D. 43590  E. None of these 

 

4.  23     25      30      40      57     ? 

A. 73   B. 79   C. 77   D. 83   E. None of these 
 

5.  25     45      95      185      375     ? 

A. 745   B. 755   C. 635   D. 645   E. None of these 

 

6.  480     505     605     830     1230     ? 

A. 1855  B. 1875  C. 1890  D. 1865  E. None of these 

 

7.  1256     1270    1280    1291    1304    ? 

A. 1311  B. 1310  C. 1312  D. 1314  E. None of these 

 

8.  625      650     700     775     875     ? 

A. 1000  B. 1025  C. 975   D. 1050  E. None of these 

 

9.  121     137     258     483     708     ? 

A. 936   B. 834   C. 836   D. 933   E. None of these 
 

10. 625     125     50     30     24     ? 

A. 24   B. 20   C. 18   D. 15   E. None of these 

 



 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

 C B D D A A C A D A 

 

Explanations:  
 

1.    
Series Pattern  Given Series   

320 320   
320 × 1/2 = 160 160   
160 × 3/2 = 240 240   
240 × 5/2 = 600 600   

600 × 7/2 = 2100 2100   

2100 × 9/2 = 9450 9450 ✓ 
 
Hence, option (C) is correct. 

 
 

2.     
Series Pattern  Given Series   

432 432   
432 + (12 + 10) = 443 443   
443 + (32 + 11) = 463 463   
463 + (52 + 12) = 500 500   
500 + (72 + 13) = 562 562   

562 + (92 + 14) = 657 657 ✓ 
 

Hence, option (B) is correct. 
 
 

3.   
 

 
Hence, option (D) is correct. 

 

 
  

Series Pattern  Given Series   
13 13   

13 × 2 – 2 = 24 24   
24 × 4 – 4 = 92 92   

92 × 6 – 6 = 546 546   
546 × 8 – 8 = 4360 4360   

4360 × 10 – 10 = 43590 43590 ✓ 
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4.   
Series Pattern  Given Series   

23 23   
23 + (12 + 1) = 25 25   
25 + (22 + 1) = 30 30   
30 + (32 + 1) = 40 40   
40 + (42 + 1) = 57 57   

57 + (52 + 1) = 83 83 ✓ 
  

Hence, option (D) is correct. 
 
 

5.    
Series Pattern  Given Series   

25 25   
25 × 2 – 5 = 45 45   
45 × 2 + 5 = 95 95   

95 × 2 – 5 = 185 185   
185 × 2 + 5 = 375 375   

375 × 2 – 5 = 745 745 ✓ 
 
Hence, option (A) is correct. 

 
 

6.    
Series Pattern  Given Series   

480 480   
480 + 52 = 505 505   

505 + 102 = 605 605   
605 + 152 = 830 830   

830 + 202 = 1230 1230   

1230 + 252 = 1855 1855 ✓ 
 
Hence, option (A) is correct. 

 
 

07.  

Series Pattern  Given Series   
1256 1256   

1256  (1 + 2 + 5 + 6) = 1270 1270   
1270  (1 + 2 + 7 + 0) = 1280 1280   
1280  (1 + 2 + 8 + 0) = 1291 1291   
1291  (1 + 2 + 9 + 1) = 1304 1304   

1304  (1 + 3 + 0 + 4) = 1312 1312 ✓ 
 
Hence, option (C) is correct. 



 

8.  
Series Pattern  Given Series   

625 625   
625 + 25 = 650 650   

650 + 25 × 2= 700 700   
700 + 25 × 3 = 775 775   
775 + 25 × 4 = 875 875   

875 + 25 × 5 = 1000 1000 ✓ 
 
Hence, option (A) is correct. 
 

 

9.  
Series Pattern  Given Series   

121 121   
121 + (1 + 2 + 1)2 = 137 137   
137 + (1 + 3 + 7)2 = 258 258   
258 + (2 + 5 + 8)2 = 483 483   
483 + (4 + 8 + 3)2 = 708 708   

708 + (7 + 0 + 8)2 = 933 933 ✓ 
 
Hence, option (D) is correct. 

 
 

10.  
Series Pattern  Given Series   

625 625   
625 × (1/5) = 125 125   
125 × (2/5) = 50 50   
50 × (3/5) = 30 30   
30 × (4/5) = 24 24   

24 × (5/5) = 24 24 ✓ 
 
Hence, option (A) is correct. 
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